INSTALLATION INSTRUCTIONS
Series 770 SS

SELF STORAGE INSTALLATIONS

Before You Start

DO NOT CUT OR REMOVE RETAINING BANDS UNTIL INSTRUCTED TO DO SO.

CHECK - warning labels on door for proper installation procedure.
CHECK - width and height of door opening.

CHECK - for adequate headroom - OPENING HEIGHT + 13“
and sideroom - OPENING WIDTH + 3 1/2“ EACH SIDE

READ - these INSTRUCTIONS COMPLETELY before attemping to install door - WARRANTY VOID IF DOOR IS
NOT INSTALLED ACCORDING TO THESE INSTRUCTIONS.

NOTE - Bracing may be required to prevent light weight building jambs from twisting.
NOTE - Bottom bar and weatherseal will remain exposed in opening (approx 4”) below header when door is fully raised.

) .
A\ CAUTION o
USE PROPER LIFTING EQUIPMENT AND o %
CORRECT LIFTING PROCEDURES TO
AVOID INJURY.

220152-0004 9/18/15 ©2015 Overhead Door Corporation



A\ WARNING

Overhead doors are large, heavy objects that move with the help of springs under high
tension. Since moving objects and springs under tension can cause injuries, your safety and
the safety of others depend on you reading the information in this manual.

POTENTIAL HAZARD EFFECT PREVENTION

“ Keep people clear of opening while

door is moving.

WARNING: Can Cause

Serious Injury or Death | Get help or use support when lifting
new door into place.

MOVING DOOR

Installation, repairs and adjustments must
be made by a trained service person using
proper tools and instructions.

WARNING: Can Cause
Serious Injury or Death | Before winding torsion spring make sure
door is open and curtain is wrapped on

HIGH SPRING TENSION barrel and tied securely.

In the following text, the word:

WARNING means that severe injury or death can result from failure to follow instructions.
CAUTION means that minor injury or property damage can result from failure to follow instructions.
NOTE means that special attention should be given to the instruction.

GUIDE LOCATION

Locate guide assembilies such that the edge of the guide is flush with the edge of the jamb as shown in Figure 1.
GUIDES MUST BE PLUMB . If the guide is still not level, locate the higher side guide first. Door shaft MUST be level.

MASONRY JAMBS (Concrete, Wood)
While holding guide assembly in place drill mounting
holes in jamb thru guide slots using the drill size
shown in Figure 2.

STEEL BUILDING JAMB E a
Hold guide and headplate against steel jamb and mark the spot

to be drilled, or hold guide and headpate against steel jamb
and drill holes thru the slots using drill size shown in Figure 2.

Figure 1
GUIDE & HEADPLATE ASSEMBLY

Insert tabs on headplates into corresponding holes on the guides. Seat the tabs with a hammer and secure headplates
to guides with 5/16“ x 5/8” carriage bolts. See Figure 3.

TAP DOWN ;
WITH HAMMER Figure 2
— TO SEAT TABS Drill Jamb Fastener
Jamb Fastener Size Specifications
Steel 1/4* Self-Drilling Screw N/A
Use ANSI 1395.12
o] Concrete 1/4“ Masonry *3/16* Dia, carbide tipped drill
S N Filled Screw Anchor bit. Drill hole 2 1/4*
A Block deep.
o Wood 1/4“ Lag Screw 1/8“ Dia. | Drill Hole 3" Deep.
0
Install 3“ O.D. Steel
|:|JOIIO[\)N 1/4* Thru Bolt 5/16“ Dia.| Washer on Opposite
am Side of Wall.
Figure 3 *Drill size for supplied fasteners. For others, refer to
L] manufacturer’s specified installation method.

220152-0004 9/18/15 2 ©2015 Overhead Door Corporation



BANDED .
CURTAIN

'BOTTOM
. BAR
Figure 4 AT FLOOR

LH GUIDE

Figure 5

RH GUIDE

CURTAIN

FLAT WASHER

BOTTOM BAR HEADPLATE

GUIDE ENTRY

Figure 7

Nl

CORRECT

INCORRECT INCORRECT

GUIDE & CURTAIN ASSEMBLY

1.

2.

Clean the floor at inside of opening and lay the
coiled door in position shown. See Figure 4.
Position the guide assemblies at each end of the
banded curtain with the headplate near the opening.
See Figure 5.

. Slip the guide and headplate assemblies onto each

end of the shaft and secure with cotter pin and flat
washer. See Figure 6.

. Make sure the spring bolt ears are aligned with each

other to assure spring is in neutral position. See
Figure 7.

. Rotate the curtain so the bottom bar is located above

the guide entry line (see Figure 6.) Once this is done,
rotate the curtain slightly as needed to line up the
spring bolt ear with the nearest spring bolt hole in the
headplate (Counterclockwise for a right hand spring
and clockwise for a left hand spring when looking
from the spring end). IF THE DOOR HAS A SINGLE
SPRING: Rotate the curtain 1/3 of a turn clockwise

to line up the spring bolt ear with the next available
spring bolt hole in the headplate. Bolt the spring to the
headplate per Figure 6. IF THE DOOR HAS DOUBLE
SPRINGS:  Bolt the springs to the headplate per
Figure 6. (NOTE: Bolt both springs to same headplate
location)

GUIDE INSTALLATION

1.

Lift the banded curtain and guides up with a lift, hoist,
or two people and place the guide assemblies against
the jambs while supporting the curtain weight. See
Figure 8.

| A WARNING |

Attempting a one-man installation can result in
serious bodily injury and/or damage to door. See
Figure 8 for recommended method.

3.

4.

. Check to see that the headplates are level and that

the door is centered in the opening. Install one
fastener (see Figure 2 for proper fastener) in the top
hole of each guide. Plumb guide assembly on

one side and fasten guide to jamb per Figure 1.
Plumb remaining guide assembly and fasten guide
to jamb. Reference distance between jamb and
properly installed guides, Figure 1.

Optional: Fasten headplate to jamb if desired.

MANUAL
LIFT
POINT

\ MANUAL
LIFT

POINT

\

DOORS UP THRU SIZE 8 X 7" MAY BE
LIFTED MANUALLY BY ENDS; LARGER
DOORS MUST USE HOIST.

220152-0004  9/18/15

©2015 Overhead Door Corporation



TENSION ADJUSTMENT (FOR SPRING TENSION MECHANISM, SEE PAGE 6)

WARNING: High Tension Spring, Installation, repairs and adjustments must be made by a trained
service person using proper tools and instructions.

1. Rotate banded curtain as shown in Figure 9 and wind
on 4 initial turns. Use the bottom bar as the reference
point in measuring the initial turns.

2. Hold the curtain securely and cut the retaining bands.
Then feed the bottom bar and curtain into the guides,
pulling curtain down to floor.

Note: DO NOT lubricate the guides.

WARNING: Excessive Spring Tension can result in
damage to the bottom bar and door stop and if used
while in such a damaged state can cause serious injury.

3. Raise and lower the door to test the spring balance,
being careful not to let the bottom bar out of the
guides. If the door will not stay closed or will not stay
open the spring balance needs to be adjusted. To
adjust spring balance, follow steps below.

A. Roll curtain up until curtain and bottom bar are
out of the guides.

B. Tie a rope tightly around the curtain.

C. Rotate curtain to remove the initial turns put on in
Step1. Rotate curtain opposite to Figure 9.

D. Carefully unbolt spring from the headplate. Rotate
curtain in order to line spring hook up with next
available hole in headplate. See Figure 10 to
determine direction of rotation.

E. Attach spring to headplate. Tighten nut securely.

F. Rotate curtain and feed bottom bar into guides.
See Figure 9.

Repeat steps as necessary.

BOTTOM BAR STOPS

1. Insert tabs on bottom bar stops into corresponding
holes on the guides. See Figure 11.

2. Seat the tabs with a hammer and secure bottom bar
stops by tapping the lock tabs into place with a
hammer. Lock tabs should be in full contact with
the guides to insure proper operation. See Figure 12.

LIFT HANDLE & STEP PLATE

1. Install lift handle to the outside center of bottom bar
using 1/4“ bolts already installed in the bottom bar
and in the hardware box. See Figure 13.

2. Install step plate to the outside of bottom bar on the
side curtain(lock is installed), using 1/4“ bolts already
installed in the bottom bar and in the hardware box.
See Figure 13.

3. Use remaining 1/4“ bolts to fill unused holes on the
opposite side of the bottom bar. See Figure 13.

PULL ROPE

1. Attach pull rope to inside of bottom bar. See Figure 13.

TO INCREASE
ROTATE TENSION
CURTAIN ON\m
4 TIMES @\
TO DECREASE
TENSION
Figure 9
Figure 10

U
/ Figure 12

P TAP LOCK TABS
WITH HAMMER
- TO ENGAGE SLOT

ﬁm

—0=.

\ TAP WITH HAMMER
TO SEAT TABS

IN SLOTS

STEP PLATE

PULL ROPE

Figure 13

220152-0004

9/18/15 7

©2015 Overhead Door Corporation



DECALS

1. Install Warning label and “Do Not Lubricate” labels

on guides as shown in Figure 14. Install at eye level.

See Warning label on Page 7 for text.

CURTAIN LOCK

1. Install curtain lock in pre-punched holes using
hardware provided. See Figure 15. Apply felt strips

over nuts on back side of curtain. Failure to apply felt

can cause damage to curtain.

<

Figure 15 Figure 14

TROUBLE SHOOTING

SYMPTOM

1. Door is easy to close, but hard to open... -
2. Door is easy to open, but hard to close... -

3. Door is hard to operate... -

4. Bottom weatherseal does not contact -
floor evenly... -

5. Door telescopes or rolls up unevenly...

POSSIBLE CAUSE

Insufficient spring tension. See Figure 10, on Page 4.
Excessive spring tension. See Figure 10, on Page 4.

Mounting brackets are not level.

Curtain assembly is not parallel to opening.
Guides are not plumb.

Guide leads are improperly adjusted. (Adjustment
must be made with door fully closed).

Guides may be damaged.

Insufficient clearance between curtain and inside of

guide. 1/4“-5/16” clearance on each side from inside
of guides.

Floor is not level.
Mounting brackets are not level.
Guides are not plumb.

- Mounting brackets are not level.

- Spring mounted to headplate in different locations.

WARNING

/" LABEL

“DO NOT

LUBRICATE*

LABEL

220152-0004  9/18/15

©2015 Overhead Door Corporation



OPTIONAL HEADER SEAL
1. With door closed, mark attachment point for
header seal on curtain (Figure 16).

. Raise curtain until attachment point is accessible.

3. Hold header seal along attachment point and drill
holes for rivets on 12“ centers using a number 29 drill.

4. Secure header seal to curtain using 1/8“ diameter,
large flange rivets.

N

DOOR MOUNTED RUBBER SEAL

o

Figure 16

HEADER MOUNTED RUBBER SEAL

o e

HEADER MOUNTED BRUSH SEAL

kv

220152-0004 9/18/15 6 ©2015 Overhead Door Corporation



WARNING LABEL 308579-0001 DO NOT LUBRICATE LABEL 604729-0001

DO NOT
LUBRICATE
MOVING door could G U | DES

result in death or

serious injury.

Do NOT close door

until doorway is clear.
SAFETY INSTRUCTIONS

604729-0001 10/22/92

1. Control the speed of the door
during manual operation.

2. Do not stand or walk under
moving door.

3. Keep doorway clear and in full
view while operating door.

4. Do NOT permit children to play
on, near, or with door or to
operate controls.

5. Unlock door before opening
door.

6. Sensing devices on motor
operated doors should be tested
frequently.

7. Adjustments or repairs must be
made by a trained door systems
technician using proper tools and
instructions.

8. Visually inspect door and
hardware monthly for worn
and/or broken parts and check to
see if door operates freely. DO
NOT operate a door with a
broken spring.

Place label at a readable height
on door drive side guide or jamb.

Do NOT remove, cover, or paint
over label.

This label should be inspected
periodically for legibility, and a
replacement label should be
ordered form the door manufac-
turer as needed.

08/27/2015 308579-0001

220152-0004 9/18/15 7 ©2015 Overhead Door Corporation



7 O-SS, TS0 CIDD TOO-CW
Roll-Up Sheet Door
Limited Warranty

Overhead Door Corporation ("Seller") warrants to the original purchaser of the Series 790-CW, 780-CD or 770-SS Rolling
Sheet door identified below (the “Product”), subject to all of the terms and conditions hereof, that the Product and all
components thereof will be free from defects in materials and workmanship under normal use for the following period(s),
measured from the date of installation:

e ONE (1) YEAR ON ALL PARTS AND COMPONENTS

Seller’s obligation under this warranty is specifically limited to repairing or replacing, at its option, any part which is
determined by Seller to be defective during the applicable warranty period. Repair or replacement labor for any defective
Product part or component is included for a period of one (1) year from the date of installation. After that, any labor
charges are excluded and will be the responsibility of the purchaser.

This warranty is made to the original purchaser of the Product only, and is not transferable or assignable. This warranty
does not apply to any unauthorized alteration or repair of the Product, or to any Product or component which has been
damaged or deteriorated due to misuse, neglect, accident, failure to provide necessary maintenance, normal wear and
tear, or acts of God or any other cause beyond the reasonable control of Seller.

This warranty does not apply to any damage or deterioration caused by exposure to salt water, chemical fumes or other
corrosive or aggressive environments, whether naturally occurring or man-made, including, but not limited to,
environments with a high degree of humidity, sand, dirt or grease. This warranty specifically excludes any damage
resulting from scratching, abrasion or impact by any hard object, and any fading or color change which may not be
uniform due to unequal exposure of the curtains to sunlight or other elements. Wearing away of the painted surfaces of
the Product is a common occurrence resulting from the curtain repeatedly coiling upon itself and uncoiling during normal
usage (See DASMA #274), and is specifically excluded from this warranty.

THIS WARRANTY IS EXCLUSIVE AND IN LIEU OF ANY OTHER WARRANTIES, EITHER EXPRESS OR IMPLIED,
INCLUDING BUT NOT LIMITED TO ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR A
PARTICULAR PURPOSE.

IN NO EVENT SHALL SELLER BE RESPONSIBLE FOR, OR LIABLE TO ANYONE FOR, SPECIAL, INDIRECT,
COLLATERAL, PUNITIVE, INCIDENTAL OR CONSEQUENTIAL DAMAGES, even if Seller has been advised of the
possibility of such damages. Such excluded damages include, but are not limited to, loss of goodwill, loss of profits, loss
of use, cost of any substitute product, interruption of business, or other similar indirect financial loss.

Claims under this warranty must be made promptly after discovery, within the applicable warranty period, and in writing to
the Seller or to the authorized distributor or installer whose name and address appear below. The purchaser must allow
Seller a reasonable opportunity to inspect any Product claimed to be defective prior to removal or any alteration of its
condition. Proof of the purchase and/or installation date, and identification as the original purchaser, may be required.

ORIGINAL PURCHASER:

INSTALLATION ADDRESS:
SELLER:

SELLER’S ADDRESS:

FACTORY ORDER #:

DATE OF INSTALLATION:
SIGNATURE OF SELLER:




